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ALG.b.1
Solve AND CHECK one-step linear equations. Clearly show EACH STEP. Circle your
answer.o
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Solve AND CHECK 2-step linear equations. Clearly show EACH STEP. Circle your answer.
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Solve AND CHECK complex linear equations with variables on both sides, demonstrating the

ability to use the distributive property. Clearly show EACH STEP. Circle your answer.
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Solve literal equations with three or more variables, by isolating an indicated variable. Clearly
show EACH STEP. [Circle your answer. |
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Isolate "Y"'. (these are special equations in slope-intercept form)
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